Divide by 4 Tables:

4-:-4-:=-1
8+4:=2
12+-4=3
16+-4=-4
20+4:=5H
24+4:=6
28 +4=7
32+4:=8
36+4=9
40+-4-=-10
44 -4 =11
48 - 4 =12

Practice writing these out in your maths copy!
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m Divide by L
o Use objects. Share each amount to o Use objects. How many times can
make 4 equal groups. you subtract 4 from:

(@ =4 groups of [ 1 | @ (@ 122[ 3 (b) 207

(b) 16 =L groups of () 32? (d) 16?
() 8 =1L groups of b @ @ | (&) U? I " 8
(d) L0 =L groups of Lt (g) 2u? l (h) 287 I
(e) 12 =4 groups of
i 39 Use your 100 Dots grid. How
(f) 20 = Y4 groups of ; many rows of L in:
(9) 36 =4 groups of : (@) 167 i (b) W?
(h) 28 =Y groups of | (@ 8? (d) 12?
(D 32 =1L groups of f (&) 32? [ () 2u?
9 Use your 100 Dots grid. Share each (@) L0? (h) 36?
amount to make 4 equal rows. ‘
(@) H8LUirows of 9 g 9 U.sg l:nultiplication to solve
o : oo | division.
) o > (@ bx| 6 =2'-+,502L++l+=—1
() 32 =L rows of
(b) L4 x =16,s0 16 + 4 =
(d) 20 =4 rows of
(c) Lx = bso b+L=

(e) U ="Urowsof
(d) Lx =28,5028 + 4 =
(f) 40 = U4 rows of =

(g) 24 =L rows of | (o e i=36»5°36'1‘”=|

(h) 28 = U rows of L =12,5012+ b =
(i) 36 =4 rows of (g0 Lx =40, so 40 + 4 =
9 i (h) Lx =20,5020 + 4 =
Challenge :
' ® u = S
(a) Double , doubled again = Lk ? y 3 32,5032+ 4
Ll , ° Challenge How many
| groups of & in: ';Thin‘l\cf:.'rbrealg into
5 (a) L4&? . friendly numbers.
(b) Double , doubled again = 60
: _ (b) 80? @
(c) Half of 100, halved again = j b
76? o
(d) Half of 80, halved again = | (© 76 g @ o

@ Thinking Strategy To divide by 4, first halve the number that you are dividing and then halve the result. Say ‘halve, halve.’
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o Halve each number and then halve o Use your thinking strategies.

your answer. @ L0 - o

+2 + L Think: if x 4 is
@ilio| 20 | 10 | EEEEEe LR e Sl
(b) |20 half, half (© 36+ |=t
(0812 @. 2 <[ )<
(d) |16
@ | 8 B8N A
@ | . (e H=00 ::r:;)l:r \:hlft
(g) |2u (@ [ |+4=1 equals5?

- . ?

23) 32 Bl +4=2 B-To 55
G [32 | = e
(2} | ®» | |+u-=8
(@ 28 +L-= o—;:l;nk:+his half, e @420 ®U|[12 (b 36
(b) LO+L = Bl E ol o
() 24+ L4 = : ‘
- L - (M4 28 (L[4 L8
(e) 12+L>= ; BT T e
® 32:4-= @ul32 mul2s @ul1e
(@ 16+L= i (ST _ e Pt
T) O @ G2:v-3-
@ 20+L-= e @sw+7=[ ]
G) 36+L-= @ b+W+@xW=

d B6+W-IxW=

e Challenge First, halve each f
- number. Then halve the result. 0

~ What do you notice? Challenge
; ; i T e o Think: what
: 2 |>| =2 ‘ () EDEa _ is half of 80?
(a) | 100 50 25 | (b) 120 + 4 = What is half
again?
() | 60 L (9 160 = [l :
(c) | 80 —
(d) | 68 _ (d) 2u0 + = i

Dear Family Play ‘Times Snap with 4 (see page 70). @



